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=LNCA 19.0 JtiEE 6.0 1,944 1,620 1,242 10] vay
IZALA 20.8 E 5 16.4 1,836 — 1,620 10 vay L
kS 5.5 BRE 5.3 — 2,700 — 0] A 2M
[F<EY 10.3 E % 10.2 — 864 — 15 A 8
HTE 1.5 BRE 0.3 1,944 1,728 756 4f A M
ZEDOH 6.2 ERE 3.0 1,836 1,404 1,080 4f A M
Fry 67.9 = I 55.3 648 — 594 10 8
IE5SNAZES 2.6 BRE 15 2,808 2,592 2,160 4f A M
¥ 6.5 BRE 3.0 1,296 1,188 864 3l A L
hE 2.0 E & 1.6 3,240 2,268 2,052 3 M
_hE f2 [ 0.3 2,268 1,566 1,566 3 L
125 2.9 = I 1.3 2,700 2,160 2,052 5] vay
)L — 1.7 2 [ 0.6 — 1,188 — 5/ A L
T ARINGHR 1.1 & B 0.2 - 194 - 0.1 L
LARX 28.4 & % 27.1 1,404 1,296 1,080 0] A LL
FUFYA 1.4 BRE 0.9 1,728 - 1,512 4f A L
=Y 18.7 BRE 8.0 1,782 1,080 756 5/ A L
=5Y ElG 5.3 1,998 1512 1,512 51 A L
NESSED 7.1 BRE 6.6 2,052 2,052 1,728 0] A 6
Y 5.2 EES 2.9 — 2851 — 8
B G 1.9 2,268 2,268 1,836 51 A L
k< 24.2 EES 8.8 1,728 1,188 1,080 4l van L
k< BRE 7.4 173 - 151 0.5 4
S 7.0 ERE 6.2 119 86 70 02 A M
E—<> 5.3 BERE 25 - 2,700 - 0] A LM
E515CL 6.8 2 [F 2.2 2,592 2,376 2,052 gl A 20
Fo5 1.8 BRE 1.8 184 130 119 0.3
12H5Y 3.8 BRE 3.6 2,203 1,404 1,296 3l A L
SOVAITFA 0.7 BERE 0.7 1,728 — 1,296 2 A
MrAL& 47 E X 45 2,538 2,268 2,052 5 L
[EhiLs 8.8 K B 8.5 648 - 324 10 38
IEhi s £ 15 540 - 216 10
[EhiLs BERE 0.2 - 324 - 10
<R3 0.2 BERE 0.2 2,160 1,836 1,620 5 A L
=FEh&E 58.0 i B 57.9 3,240 — 2,754 20 Va9 L
5OELD 1.6 ERE 1.6 4,860 4,320 3,780 10 A M
ELLV=T 1.1 BERE 0.1 - 108 - 0.1 L
ELLV=T £ 5 0.4 — 173 — 025 M M
ZDEET 3.7 K B 25 32 22 22 0.1 A
LHL 2.2 12 [ 2.2 97 72 65 0.2
T 365.8
e
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RN A MAET 2.3
INDRAHMA 2.3 = B 2.2 4,320 - 3,780 5] a1y L
INDRH A i B 5,400 — 4860 5| a7y M
INDRH A i B 5,940 — 5,400 5| a7y S
HLEDO2HMA 49 ERE 49 - 972 - 10 D L
LEY 0.8 FA)Ah 0.7 9,720 4,860 1,404 17 115
INLLT 1.2 FA)H 1.2 7,344 4,860 4,860 17 88
LT 2ILY 0.2 mr2Y) 0.2 - 4968 — 15 50
YACE 9.4
PEpE=PE 0.4 5 0.4 6,480 6,480 6,048 10
AL 6.4 "5 & 6.4 - 5,940 - 10| 74¥2 36
I g5 & - 5,940 — 10
3HET 24
3% 24 B X 22 540 540 486 05 vay LL
FT3HEE 0.3
ERG 0.3 12 [ 0.2 432 356 346 04| A LL
$3&5 0.3 w2 0.2 - - — PR LL
B35 iz 810 810 648 0.18] hva L
B35 iz 756 594 486 0.18] hMva M
58 42 I 1.1 - 9,180 — 10| Y1y LL
SAESE 0.8
T29x7F 0.5 E R 0.1 - 3,240 - 2| 7hva LL
T29z7F E 8 - 3,240 - 2| 7hva L
T29x7F E 8 - - - PR M
Big 0.2 2 @ 0.2 864 810 734 03] B 4L
EA—=* 12 [ 842 - 810 03] B 3L
W52 0.4 BERE 0.4 486 - 432 025 A L
W52 BERE 540 432 378 0250 A M
A0 &t 6.8
7—ILR 0.6 £ E - 8,100 — 9] vm
AHI 0.6 Z 0.4 2,916 — 2,592 5 vay 3L
FDAO 55 HE K 5.0 - 1,080 - 5 vay 3L
FUVME 19.0
ELAY) 14.6 X & 25 - 5,006 - 16| Y19 3L
ERAY X 9 - 5,341 - 18] vam 4L
ZEETLH 4.4 £ & 29 2,592 2,160 2,160 10 A 3L
INFF 15.6 EUEY 15.6 4536 2,991 2,808 15
IMFyTIL 4.1 EUEY 4.1 3,240 2,808 2,808 10 8
FoA4T)LY 1.0 - 1.0 5,076 4,320 4,320 5.8 30
RERE 74.8




